
EASY SETUP GUIDE
THIN 3 BAY CREDENZA



I
t
e
m

s
 
i
n
c
l
u
d
e
d

CREDENZA

COLUMN

SCREW 1/4"x1/2" 

E

F

G

P

K
J

I

ADJUSTABLE

EXTENSION

MOUNT KIT

LEVELER 3/8" 

WOOD SCREW

#6  x 3/4 ''  

B

C
D

E

H

Q

R

M

CONCRET ANCHOR

M8X50

M8X70 OUTSIDE

THE HEXAGONAL

x2

x4

x1 x1

x1
x1 x3

x6
x4

1 Left

1 Right

x8
x8

x1

x56

x16

S

SCREW 5/16"x1 1/4" 

WASHER 5/16" 

x16
x16

WALL PLATE

CENTRAL SUPPORT

EXTENSION

CAMERA SHELF

L

O

M8X70 OUTSIDE

THE HEXAGONAL

x8

x2

TOP

SIDE TOP

DOOR



 

 

STEP 1

STEP 2

PUT THE LEVELERS IN THE POSITION

AS SHOWN

DISASSEMBLY THE RACK CABINETS

TO INSTALL THE WOODS

UNISTALL THE RACK CABIENETS, REMOVING

THE SCREWS TO THE FRAMES AS SHOWN

J

J



 

 

 

 

STEP 3

USING THE SCREWS (P) TO SECURE

THE TOP (G) AND SIDES (H) TO THE CREDENZA

STEP 4

ATTACH THE RACK CABINETS

IN THE POSITION AS SHOWN

G

H

H

P

P



 

 

 

 

INSTALL THE COLUMNS (B) 

WITH SCREWS (L) AND 

WASHSER (O)

AND WALL PLATES (C) , USING

SCREWS (L)  AND WASHER (O)

ATTACH THE DOORS (I) ON THE 

PLATES LOCATED ON THE RACK 

CABINET WITH THE SCREWS (P) AS

SHOWN

STEP 5

STEP 6

L

O

B

147 mm

[5,790 in]

147 mm

[5,787 in]

682 mm

[26,850 in]

664 mm

[26,144 in]

370 mm

[14,567 in]

L

O

C

1
1

0
 
m

m

[
4

,
3

4
8

 
i
n

]



 

 

 

 

 

 

STEP 7

STEP 8

ATTACH THE MOUNT TO THE COLUMNS,

USING THE KIT (K)

ATTACH THE CREDENZA TO 

THE WALL WITH THE ITEMS (Q,R,S)

K

R

Q

S



 

 

 

 

 

  

 

 

 

STEP 9

STEP 10

SECURE THE SCREEN TO THE UPRIGHTS

AND ATTACH  TO THE MOUNT 



ATTACH THE CENTRAL SUPPORT (D) TO THE

MOUNT AND PLACE THE CAMERA SHELF (M)

TO DESIDERED HEIGHT

D

D

E

E

F

F

82 mm

[3,229 in]

82 mm

[3,229 in]

54 mm

[2,113 in]

25 mm

[0,999 in]

25 mm

[0,999 in]

54 mm

[2,115 in]

CENTRAL RACK CABINET

LEFT RACK CABINET
RIGHT RACK CABINET

INSTALL THE DOORS (I) IN THE POSITION

AS SHOWN, SECURE WITH THE SCREWS

LOCATED ON THE PLATE

NOTE : THEN, SECURE THE DOORS

DOWN WITH TEH SREWS (P)



P



Customer Service

(800) 285-8315

Corporate

Addess:

1151 Empire Central Drive

Dallas, TX 75247

Phone: (214) 905-9001

Facsimile: (214) 905-9666

Sales Contacts

Phone: (214) 905-9001 x107

Phone: (214) 905-9001 x155

EASY SETUP GUIDE
THIN 3 BAY CREDENZA


